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By a rabbinic Tum’oh, the rabbis did not place a Tum’oh on it

Overview

The X3 explained the reason there is no 7w° IRM™W by N°2107 °93 as there is by 7>
mann, because the rule of MW ARMAIY is 132777, therefore by mann *20 which are &nw
n"nn they placed a mw° 78”1 on them, however by n°2131 *%3 which are &1v only
112777, they did not place a 71w XMV on them. NMBOIN deals with a seemingly
contradictory Xn3.

nooIn asks:
= (oW1 N,33 97 IRYNYS 229 P9 NIT NTIAY NIVNA 9INT PN 1%39Y NYP)

And the ''1 has a difficulty; for the X3 states in 'y noo» in HRYRWS ' Pp -
- Yy N9t ANaYY 29 709

X117 27 queried; what is the rule if one repaired a utensil for "'y -
- MW INNMVY 19N B9 191 DU TN PNT 1Y NOPAND NIYS ARV XINNH 29 NN

The X713 there said; X11%7 29 is inquiring regarding the rule of maws aRww, for
we learnt in a mwn regarding PR 0°%5 that broke and they became 7w, if he

repaired them they revert to their original fx»2m -
= PIY ANMIV NN 9133 19297 NANNIVA ITPAN NN

It is evident that even by a 31297 820 there can be a 73w JIN2IY, so why does the
X713 here simply assume that by 11277 78”0 (such as n°3137 °9) there is no W IRMV?

mooIN answers:
- N1 13397 NNNIVA DN ININT 29 DY N 92 YN

And one can say; even though the X713 there queries about a 33397 R2 (1"y nxmw) -
- NIPINNTI DINDIV Y2993 d990 0PN Yan

Nevertheless the vessel is n''51% 1821 9222 therefore there is a query in such a case -
- 132979 NYN NIPIINTA NIV DIV 5291 N9T $99)91 %99 NOD YaN

However here, the n°>121 ¥%2, which is not %2p» any n''57% 7820 only 33972 -
ANV 1939 905 PNN YT >9h XVIWS

It was obvious to the X723 that the 3339 did not place a 71w R2IY upon it.

"It was initially a *93 for 1"y (which renders it 1312772 Xnv), it then broke (which makes it v), and now he repaired
it; does it become Xnv because of 71w° 7IRMW or not
2 x1n7 20 queried whether this rule of 73w> axm applies only to XN™MKRT IRMY or even to 73277 AN like 1"y NP
The X713 there remained with a 1p°n.
? See “Thinking it over’.
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Summary
A °%5 which is not n"nn ARAIY 92pn is less prone to 7w XMWY than a aX™W which is

not n'"7n.

Thinking it over
Why is it so obvious to 90N that by 2°22 which are not n"mn Xnv (like n°2131 ¥5)),

there 1s no MW AX™L even though the ARMW 1s a n"an axn”w (like a yw, etc.);
however if the 72 is 0" aRML 22pn (like Mann *93), then even if the axMW itself is
only a 71277 A%MY (such as 1"Y) there may be? mws axmn?’

* See footnote # 3. At first blush it would seem the opposite; that the type of axm (whether n";m or 1312772) is more
relevant than the type of 73 (whether it is n"mn ARV 93PN or 11277N).
> See i MR (1"7v) and "» YW NAWw.
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